restart
Ecuacion := diff (v(t),t) =-K-v(t)--2

Ecuacion := % v(t) = —Kv(t)2 Q)
Condicion := v(0) =200
Condicion:=v(0) =200 2
SolucionParticular := dsolve( { Ecuacion, Condicion})
. . . _ 200
SolucionParticular := v(t) = 1T 200Kt 3
EcuacionDos := diff (x(t), t) =rhs(SolucionParticular)
. _d _ 200
EcuacionDos:= . X(t) = 1T 200Kt 4
Condicionlnicial := x(0) =0
Condicionlnicial :=x(0) =0 (5)
SolucionRecorrido := dsolve( { EcuacionDos, Condicioninicial })
SolucionRecorrido := x(t) = In(1 +§OO K1) (6)

TiempoFinal := solve(rhs( SolucionRecorrido) = 1—10 t)
1

— K

TiempoFinal := e® -1 @)
© 200 K
SolucionParticular 200
VU= T 200Kt ®
Parametro := solve(subs(t = TiempoFinal, rhs(SolucionParticular) =20), K); evalf (%)
Parametro:= 101n(10)
23.02585093 ©
SolucionFinal := subs(K = Parametro, SolucionParticular)
SolucionFinal :=v(t) = 200 (10)

~ 1+20001In(10) t
plot(rhs(SolucionFinal), t=0..0.002, y =20..200)
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> TiempoTraspaso := subs(K = Parametro, TiempoFinal) : evalf (%)
i 0.001954325169 (11)
> NuevoTiempo := solve(rhs(SolucionFinal) =10, t); evalf (%)

19
2000 In(10)
0.004125797578 (12)

[ > GruesoNuevo = subs(t = NuevoTiempo, K = Parametro, rhs( SolucionRecorrido) ); evalf (%)
1 In(20)

10 In(10)
0.1301029996 (13)

(> plot(rhs(SolucionFinal), t = 0..0.005, y = 10..200)

NuevoTiempo ;=

GruesoNuevo ;=
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